Figure 15.12. From the workers' party to the party of the highly
educated: the Labour vote, 1955-2017
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Interpretation. In 1955, the Labour party obtained a score that was 25 points lower among top 10% highest-education voters than
among bottom 90% lowest-education voters; in 2017, the score of the Labour party was 13 points higher among top 10% education
voters. Taking into account control variables does not affect the trend (only the level). Sources and series: see piketty.pse.ens.frlideology.




